Chef’'s Hot and Cold Cubes

Remember from our Lesson?
3+ (-5)=-2

That's the same as:

3-5=2

3+(-5)=-2
When adding a negative or Example:
Subtracting a positive
y 5+(3) = 5-3 = 2
+ -]
SaE—— e 3-(t2) = 3-2 =1
{ == + ‘ The operation

becomes

= subtraction
When adding a positive or
Subtracting a negative + (+3} = 5 &= 3 = 8
{+ + ‘ 3 o ('2) - 3 : ¢ 2 —
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The operation
bacomes
addition
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O s e o First, convert the operation using

Subtracting a positive the
" + ‘ (Don't solve).
]
}—: CJI> — The first one is done for you.
== ‘ The operation
\ + - 5+(-5)=5-5
4+ (-2)=
When adding a positive or
Subtracting a negative 5- (+3) —
 * +\ il
+ ) >
p— The operation
e 3 addition 8-(2)=

Now, convert the operation in your head, then solve:
The first 6 equations are the same as above,
but now you are only writing the final answer

5+(-5)=0 -10-(-5)=
4+(-2) = 6+ (+3) =
=3y = -3-(-2) =
2-(-3) = 5-(+3) =
3+(+1)= 28] =
-8-(-2) = 5+ (-5) =
— — 1>
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